VCE & PDF https://www.passapply.com/1z0-813.html
2021 Latest passapply 120-813 PDF and VCE dumps Download

PassApply.com

170-8139%As

Upgrade to Java SE 8 OCP ( Java SE 6 and all prior versions)

Pass Oracle 1Z0-813 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-813.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-813 Dumps | 1Z0-813 VCE Dumps | 120-813 Study Guide 1/12


https://www.passapply.com/1z0-813.html
https://www.passapply.com/1z0-813.html
https://www.passapply.com/1z0-813.html

VCE & PDF https://www.passapply.com/1z0-813.html
2021 Latest passapply 120-813 PDF and VCE dumps Download
PassApply.com

QUESTION 1
Given the code fragment:

Path pl = Pathsa.get (“/Pica/MyPie. jpggf.’- !
System.out.printlin(pl. n;etl‘lanet:cur}:;,ﬁ“ +

LE

:* 4 pl.gecName(1) + 8¢
“:” 4 pl.getFileNamalT)

Assume that the Pics directory does NOT exist. What is the result?
A. 1:Pics:/Pics/MyPic.jpeg

B. An exception is thrown at run time.

C. 2:MyPic.jpeg:MyPic.jpeg

D. 2:Pics:MyPic.jpeg

Correct Answer: C

QUESTION 2

Given the code fragment:

List<Integer> codes = Arrays.aslist (10, 20);
UnaryOperator<Double> ua@®= s -> s + 10.0 ;
cades.repla:ehll{uo}%ﬁ?

codes . forEach(c —}ﬁﬁﬁatem.uut.println(c]};

What is the result?

A. A compilation error occurs.

B. 20.0

C.10

D. A NumberFormatException is thrown at run time.

Correct Answer: A

The compilation fails due the to following line: codes.replaceAll(uo);

Incompatible types: Double cannot be converted into integer.
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QUESTION 3

Given the code fragment:

public class Test {
public static woid maipﬁﬂtring[] args) f{
Greeter g = (s) —3%{
return s + BWelcome!™;
|
Eystem.outqpfiﬂtlﬂ{q.greet{"Kathy"}};

Which is the valid definition for the Greeter interface to enable the code fragment to print Kathy Welcome!?

A. public interface Greeter |
public String greet (String name) ;
i

B. public interface Greeter | .
public default String greegfS€Tring name) {
return name;

}
public String greet (@frdng name, String salute) ;

}

C. public interface GEEpter<T> {
public staticlSfring greet (T name) ;
} X

D. public interface Grester {
public default String greet (String name) ;

A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: A

Code example works fine:
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public class Test {

public interface Greeter {
public String greet(Stripgyfame) ;

}
public static void@®ein(String[] args) {
Greeter g =@atsy —> |
return = + "Welcome!";
bi
Syste:ﬂg.:ﬁut.println (g.gre=t ("Eathy"} ) ;
h
}
QUESTION 4

Given the code fragment:

//1line nl
Double d = str.avergfe () .getAsDouble () ;
System.out.printlg@({"Average = " + d);

Which should be inserted into the line nl to print Average = 2.5?
A. Stream str = Stream.of(1, 2, 3, 4);

B. IntStream str = IntStream.of(1, 2, 3, 4);

C. DoubleStream str = Stream.of(1.0, 2.0, 3.0, 4.0);

D. IntStream str = Stream.of(1, 2, 3, 4)

Correct Answer: B

Use IntStream.

Reference: https://docs.oracle.com/javase/8/docs/api/java/util/stream/IntStream.html

QUESTION 5

Given:
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class CheckClass | B,

public static int ch&ck’@ﬂé{ﬁtr‘nq 8l, String sai) |
FETUrn L.lenngth[-f sZ2.1lengthi):
] &

il
} A
L

and the code fragment:

String[] strirray = new Steing[] | _‘;‘}_ geE”. "RaEY, “Cat*, "Lion" }:
//line nl &
for (String = * strirray) | {c}"

Syscem.out .print(s + © ‘}f

Which code fragment should be inserted at line nl to enable the code to print Rat Cat Lion Tiger?
A. Arrays.sort(strArray, CheckClass::new::checkValue);

B. Arrays.sort(strArray, (CheckClass::new) .checkValue);

C. Arrays.sort(strArray, (CheckClass::new)::checkValue);

D. Arrays.sort(strArray, CheckClass::checkValue);

Correct Answer: D

QUESTION 6

Given the code fragment: Which two changes, taken together, enable the use of this class in a try-with-resources
statement? (Choose two.)

public class CustomResource |
private String IESDLIA#EI‘LE,

public uuatLﬂESGu;mgA ['—"trl_ng name) |

racourcs b!'am-:- gb ".ﬂa_me- ’
.- -\. fl

}
/! Resourc E{ﬁfhads

A. public class CustomRecourse extends AutoCloseable {

B. public class CustomResource implements Closeable {
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C. public class CustomResource extends Closeable implements AutoCloseable {

D. Add a method: public void autoClose() throws IOException { }

E. Add a method: public boolean close() throws IOException { }

F. Add a method: public void close() throws IOException { }

Correct Answer: BF

A Closeable is a source or destination of data that can be closed. The close method is invoked to release resources that
the object is holding (such as open files). It closes this stream and releases any system resources associated with it. If

the stream is already closed then invoking this method has no effect. It throws an IOException - if an I/O error occurs.

Reference: https://docs.oracle.com/javase/7/docs/api/javal/io/Closeable.html

QUESTION 7

Given the code fragment:

final List<String> list = new CopyvOnWriteArrayList<>();

final AtomicInteger ai = new AtomicInteger (0);
final CyclicBarrier barrier = new CyclicBarrier (2, new Runnable () {
public void run{) { System.cut.println (1i%); }
|8
Bunnable r = new BRunnable() {
public void ran{) {
g T |
Thread.sleep (1000 * aimancrementaAndGet ());
list.add ("X") ;
barrier.await () ;
} catch (Exception ex}fr4
H
¥
bi

new Thread(r) .start W
new Thread(r).starti{};
new Thread(r).start{);
new Threadir).start({);

What is the result?
A. X, X] [X, X, X, X]

B. [x] [x, X] [X, X, X]

C. X1 [x, X] [X, X, X] [X, X, X, X]
D. [x, X]

Correct Answer: A

Latest 120-813 Dumps | 1Z0-813 VCE Dumps | 120-813 Study Guide 6/12


https://www.passapply.com/1z0-813.html
https://www.passapply.com/1z0-813.html
https://www.passapply.com/1z0-813.html

VCE & PDF https://www.passapply.com/1z0-813.html
2021 Latest passapply 120-813 PDF and VCE dumps Download
PassApply.com

QUESTION 8

Given the definitions of Readable and Writable interfaces:

interface Readable |

public void read(); 5%,
public static wvoid close() {Sys%ﬁnut princ (" Close ™): ]
]' g ‘“-?'I."J
interface Writable extends Rtnda@?id
public default wvoid T.!"'J."'
read() : "L'E»‘“f // line nl
Syatem.out .pr‘";ﬁ*ﬁh-] coma* ) 3
]
}
Given:
class Canvas implements Writable | -w}.ﬂ’f line n?
public void read() { *y:*‘tm out nt:l!“Ht"lCu 12 }
public atatic void main [Str arqga)
Writable canvasl = ne ﬁvau“.
canvasl.write(): T
Wr;_t.able.clnsei,':l',p:i}""r // line n3
o
} r;%‘ff
}

What is the result?

A. Compilation fails due to an error at line n3.
B. Compilation fails due to an error at line n1.
C. Hello Welcome Close

D. Compilation fails due to an error at line n2.
Correct Answer: A

Uncompilable source code - Uncompilable source code - Erroneous sym type: Writable.close at Writable.close(); // line
n3.

QUESTION 9

Given:
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class Froduct |

o
& =
private double price;
. : i =
Product (doukle price) | Y
this.price = price; ,.;4;:5_}\'

} o
public double qetE‘riGE[h@@’r'f:turn price; }

and the code fragment:

LisccFroduct>» prd = new Arraylisc<>():

Al
prd. add (new Product (100)); ,.-fj';_?’
prd.add (new Product (200}); gL fe
prd.add (new Product (300))7 2

/¢ line nl ,J,;fw
System.out. prﬂnt-rit.ct.alﬂ:tlca@‘@

Which code fragment, when inserted at line n1, results in the following output?

600.0

A. double totalPrice = prd.stream/()
.reduce (0.0, Double::sum);

oo,
-1 =,
L™ 2

B. double totalPrice = prd.stream() ’“\\\’
.reduce (0.0, (pl, p2) -> pl +I:p}1)
. 0 ¥
C. double totalPrice = prd. streaz31
.parallel () O K

Al
.reduce (0.0, (pl, pE/L L-;}“bpl getPrice() + p2.getPrice());

.-J.---1I

0 ; -
- double totalPrice _—W.stream{]
i GRS

.parallel () &)
.map(p ->» p.getPrice())
.reduce (0.0, (pl, p2) -> pl + p2);
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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QUESTION 10

Given the code fragment:

List<5tring> str = Arrays.aslist("my”, “pen”,”is”,“your”,“pen”).;
Predicate<3tring> test = 3 -> |
int i = 0;

P
c:;'\.
Boolean resulc = s.contains(™ €ﬁ§

>

System.out.print((i++) + “ .Q\
return resulc; ﬁgﬁ
al"®
} H L '-,I'c;_;:\>
str.stream() fﬁf'
.nluer{uestjiivj
findFirsc()

.ifPresent (System.out::princ);

What is the result?
A.0:1:2:3:4:
B.0:1:pen

C.0:0:pen
D.0:0:0:0:0:pen

E. A compilation error occurs.

Correct Answer: C

QUESTION 11

Given the code fragment: What is the result?
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final List<String> list = new CopyOnWriteArrayList<>():
final AtomicInteger ai = new AtomicInteger (0):
final CyclicBarrier narrier = new CyclicBarrier(2, new Ruunableil {
public void run{) [(System.ocut.println(list}; |}
| 3
Runnakble r = new Runnable() {
public woid run{)
tey | :
Thread.sleep(1000 * ai. 1nc:mntmdue {)):
} catch (Exception ex) {

l
}
} .
new Thread(r).start():
new Thread(r).startc();
new Ihread(r).start().
new IThread(r).stazt{):

A. X, X] [X, X, X, X]
B. [x, X]
C. [X] [%, X] [X, X, X]

D. [X] [x, X] [X, X, X] [X, X, X, X]

Correct Answer: D

CyclicBarrier is a synchronization aid that allows a set of threads to all wait for each other to reach a common barrier
point. CyclicBarriers are useful in programs involving a fixed sized party of threads that must occasionally wait for each

other. The barrier is called cyclic because it can be re-used after the waiting threads are released.

Reference: https://docs.oracle.com/javase/7/docs/api/java/util/concurrent/CyclicBarrier.html

QUESTION 12

Given the fragment:

public static wvoid main{String[cj-.'-"argsj {

List<String>» sList = ‘rrag's'.asList{“ﬁ", RN WMo

ffline rl e
System.cut. }_:I""l"l'l:lrll:ﬁft‘l",l -

Which code fragment, when inserted at line n1, enables the code to print ABCD?
A. String str = sList.stream().reduce(",(s1, s2) -> s1.concat(s2));

B. String str = sList.stream().reduce("A",(s1, s2) -> sl.concat(s2));

Latest 120-813 Dumps | 1Z20-813 VCE Dumps | 1Z0-813 Study Guide

LR o T
14 r

10/12


https://www.passapply.com/1z0-813.html
https://www.passapply.com/1z0-813.html
https://www.passapply.com/1z0-813.html

VCE & PDF https://www.passapply.com/1z0-813.html
2021 Latest passapply 120-813 PDF and VCE dumps Download
PassApply.com

C. String str = sList.stream().reduce((s1, s2) -> sl.concat(s2));

D. String str = sList.stream().reduce("A",String::concat);

Correct Answer: A

The java.util.Arrays.asList(T... @) returns a fixed-size list backed by the specified array.
Note: Use the following import statements to be able to run the code.

import java.util.Arrays;

import java.util.List;

Incorrect Answers:

B, D: Output is AABCD

Reference: https://www.tutorialspoint.com/java/util/arrays_aslist.htm
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